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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 11 (B)12 (C)16 (D)17 (E)15

What approximate value  should come in the place of question mark(?)in the following 
questions.

( 49.67% of 1442 − 39.75% of 1419.89 ) ÷ 8.67 = ?
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(A)84 (B)88 (C)92 (D)82 (E)100

What approximate value  should come in the place of question mark(?)in the following 
questions.

(85410+ 36885 + 24705) ÷ 1600 = ?

E04613
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(A)3601 (B) 3570 (C)3830 (D)3315 (E)4210

What approximate value  should come in the place of question mark(?)in the following 
questions.

√84101 + 55.03² = ?

E04613
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(A)750 (B) 680 (C) 620 (D)590 (E)520

What approximate value  should come in the place of question mark(?)in the following 
questions.

1/5 of 1995.02 + 1/9 of 629.89 + 1/8 of 399.90?

E04613
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(A)25 (B) 20 (C)75 (D)96 (E)40

What approximate value  should come in the place of question mark(?)in the following 
questions.

49.7² − 29.91² + 11.08²  = 10.92² + ?²

E04613
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Class Time :- 9:00 AM

Directions (Q. 1-5):-Direction for Question

Read the following data carefully and answer the questions below.
प्रश्न के लिए लिरे्दश लिम्नलिखित डेटा को ध्याि से पढ़ें और िीचे लर्दए गए प्रश्नो ों के उत्तर र्द़ें।
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(A)2500 (B)2656 (C)2688 (D)2572 (E)None of these

Q.1 :- If total number of male people who drive Amaze is 7200, then how many female drive 
Baleno?
यलर्द अमेज चिािे वािे पुरुषो ों की कुि सोंख्या 7200 है, तो लकतिी मलहिाएों बिेिो चिाती हैं?
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(A)200000 (B)300000 (C)400000 (D)500000 (E)None of these

Q.2 :-If the number of female who drive Audi is 21120, then what was the total number of 
cars of all types?
यलर्दऑडी चिािे वािी मलहिाओों की सोंख्या 21120 है, तो सभी प्रकार की कारो ों की कुि सोंख्या
लकतिी थी?
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(A)758600 (B) 768672 (C)686072 (D)728752 (E)None of these

Q.3 :- If in the next year, there is an increase of 10% and 20% in the number of male and 
female who drive Figo and Duster respectively and the total number of people who drive 
Ritz is 367200 then find the total number of people who drive Figo and Duster. यलर्द अगिे
वषष, लिगोऔर डस्टर डर ाइव करिे वािे पुरुषो ोंऔर मलहिाओों की सोंख्या म़ें क्रमशः 10% और
20% की वृखि होती है और ररट्ज डर ाइव करिे वािे िोगो ों की कुि सोंख्या 367200 है, तो लिगो
डर ाइव करिे वािे िोगो ों की कुि सोंख्या ज्ञात कीलजए।और डस्टर।
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(A)6400 (B)7200 (C)6300 (D)5040 (E)None of these

Q.4 :-If the total number of people who drives Amaze is 31500 then what is the total number 
of female who drive Ritz?
यलर्द अमेज चिािे वािो ोंकी कुि सोंख्या 31500 है, तो ररट्ज को चिािे वािी मलहिाओोंकी कुि
सोंख्या लकतिी है?
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(A)11:8 (B) 8:11 (C)5:8 (D)5:11 (E)None of these

Q. 5:-If the total number of male who drive Baleno is 45670, then what is the ratio of the 
female who drive Amaze to the total number of male who drive Duster?
यलर्द बिेिो चिािे वािे पुरुषो ों की कुि सोंख्या 45670 है, तो अमेज चिािे वािी मलहिा का
डस्टर चिािे वािे पुरुषो ों की कुि सोंख्या से अिुपात लकतिा है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

11 .   14 , 55 , 18 , 99 , 22 ,? , 26 , 88

(A)66 (B)44 (C)62 (D)99 (E)None of these

E04613
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What should come at place of the question mark (?) in the following number series ?

12 . 6 , 15 , 35 , 77, ? , 221 , 323 

(A)132 (B)153 (C)156 (D)130 (E)143

E04613
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

13 . 8 , 22 , 50 , 106 , 218 , ?

(A)436 (B)442 (C)410 (D)450 (E)430

E04613
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

14 . 210 , 209 ,  213 , 186 , 202 , ?   

(A)138 (B)177 (C)77 (D)327 (E)102

E04613
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Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

15 . 12 , 7 , 9 , 22 , 96 ,?  

(A)754 (B)784 (C)794 (D)734 (E)744

E04613
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 

E04613
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Class Time :- 9:00 AM

Q.31 :- I. 6x2 + 25x+ 21 = 0                            II. 3y² − 16y +21 = 0

Q.32 :- I. 4x2 − 12x + 5 = 0                            II.  8y2 + 3y = 38

Q.33 :- I. 15x² + 68x + 77 = 0        II. 3y² + 29y +68= 0

Q.34 :- I. 4x² − 7x + 3=0                                 II.  y2 − 2y + 1 = 0

Q.35  :- I. 3x2 − x − 70= 0 II.  y² − 31y+ 240= 0

E04613
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(A)300kg (B)500kg (C)800kg (D)750kg (E)None of these

Q.15 :-A merchant has 800 kg of sugar, a part of which he sells at 20% profit and the rest at 
16% profit. He gains 18.5% on the whole. Find the quantity sold at 16% profit ?
एकव्यापारी के पास 800 लकग्रा चीिी है, लजसका एकभाग वह 20% िाभ पर तथा शेष 16% 
िाभ पर बेचता है। उसे कुि लमिाकर 18.5 प्रलतशतका िाभ होता है। 16% िाभ पर बेची गई
मात्रा ज्ञात कीलजये?
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(A)41°c (B)42°c (C)43°c (D)39°c (E)None of these

Q.16 :-The average temperature for the months of May, June and July was 48°C. The 
average temperature for the months of June, July and August was 50°C. If temperature in 
the month of August was 45°C, what was the temperature in the month of May?
मई, जूिऔर जुिाई के महीिो ों म़ें औसत तापमाि 48 लडग्री सेखियस था। जूि, जुिाईऔर
अगस्त के महीिो ों म़ें औसत तापमाि 50 लडग्री सेखियसथा। यलर्द अगस्त के महीिे म़ें तापमाि
45°C था, तो मई के महीिे म़ें तापमाि लकतिा था?
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(A)30 (B)31 (C)33 (D)36 (E)None of these

Q.17 :-Ramu has 3 different kinds of chocolates costing Rs 5, Rs 6 and Rs 10. He spends a 
total Rs. 110 on the chocolates. Find the sum of minimum and maximum chocolate he can 
buy with one condition that he must buy from all varieties?
रामू के पास 3 अिग-अिग प्रकार की चॉकिेट हैं, लजिकी कीमत 5 रुपये, 6 रुपये और 10 रुपये
है। वह कुि रुपये िचष करता है। चॉकिेट पर 110. वह एकशतष के साथ नू्यितमऔर अलिकतम
चॉकिेटिरीर्द सकता है लक उसे सभी लकस्ोों से िरीर्दिा चालहए?
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(A)29.16 ltr (B)25.5 ltr (C)39.16 ltr (D) 31.16ltr (E)None of these

Q.18 :- A container contains 40 liters of milk. From this container 4 liters of milk was taken 
out and replaced by water. This process was repeated further two times. How much milk is 
now contained by the container?
एककों टेिर म़ें 40 िीटर रू्दि है। इसकों टेिर से 4 िीटर रू्दि लिकािा गयाऔर उसके स्थाि पर
पािी डािा गया। इस प्रलक्रया कोआगे र्दो बार र्दोहराया गया। कों टेिर म़ें अब लकतिा रू्दि है?
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(A)1025 (B)2050 (C)4100 (D)3250 (E)1850

Q.19 :- The simple interest accrued on a sum of certain principal is Rs. 14400 in six years at 
rate of 12% per annum. What will be the compound interest on the same sum in two years 
at 5% per annum.
कुछ मूिििकी रालश पर अलजषत सािारणब्याज रु. 14400 छह वषों म़ें 12% प्रलत वषष की र्दर
से। समाि रालश पर 5% प्रलतवषष की र्दर से र्दो वषों म़ें चक्रवृखिब्याज लकतिा होगा?
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(A)1080 (B)3500 (C)3780 (D)7000 (E)None of these

Q.20 :- A can do 20% part of a work in 8 days, B works 30% part of the same work in 12 
days and C works 40% part of that work in 18 days. If B and C's 1-day wage difference is 
Rs 12, then what will be the wage of A on working 35 days?
A लकसी कायष का 20% भाग 8 लर्दिो ों म़ें, B उसी कायष का 30% भाग 12 लर्दिो ों म़ें तथा C उसकायष
का 40% भाग 18 लर्दिो ों म़ें कायष करता है। यलर्द B और C के 1 लर्दि के वेति का अोंतर 12 रुपये है, 
तो 35 लर्दि कामकरिे पर A का वेति लकतिा होगा?
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(A)2:3 (B)1: 2 (C)1 : 3 (D)3: 2 (E)None of these

Q.21 :- X, Y and Z were sharing profits in the ratio of 3: 4: 5. Y declined to receive the profit 
so X and Z decide to share profits in the ratio of 1: 2. Find the ratio of the increment in the 
profit of X and Z.
एक्स, वाईऔर जेड 3: 4: 5 के अिुपात म़ें िाभ साझा कर रहे थे। वाई िे िाभ प्राप्तकरिे से
इिकार कर लर्दया, इसलिए एक्सऔर जेड िे 1: 2 के अिुपात म़ें िाभ साझा करिे का िैसिा
लकया। के िाभ म़ें वृखिका अिुपात ज्ञात कीलजए। एक्सऔर जेड।

E04613
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(A)15% (B)10% (C) 20% (D)25% (E)16 2/3%

Q.22 :-Manish bought 25 kg. sugar at Rs.32 per kg. and 15 kg. of sugar at Rs.36 per kg. 
What profit % did he get when he mixed the two varieties together and sold it as Rs.40.20 
per kg?
मिीष िे 25 लकिो िरीर्दा। चीिी 32 रुपये प्रलत लकिो।और 15 लकग्रा. चीिी का 36 रुपये प्रलत
लकिो। जब उसिे र्दोिो ों लकस्ोोंको एक साथ लमिायाऔर इसे 40.20 रुपये प्रलत लकिो के लहसाब
से बेचा तो उसे लकतिा िाभ% प्राप्त हुआ?

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2033 (B)2072 (C)2162 (D) 2062 (E)None of these

What value should come in the place of question mark(?)in the following questions?

2743 + 3657 + 1444 ÷ 38 −4376 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)405 (B)435 (C)335 (D)305 (E)None of these

What value should come in the place of question mark(?)in the following questions?

25% of 176 + 75% of 364 = ? + 12
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1181 (B)1291 (C)1191 (D)1281 (E)None of these

What value should come in the place of question mark(?)in the following questions?

216 ÷ 4 + 33² + 124 − 76 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)92 (B) 82 (C)94 (D)72 (E)None of these

What value should come in the place of question mark(?)in the following questions?

12 × 18 + (324 ÷ 6)² − 3040 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1311 (B) 1121 (C)1111 (D)1211 (E)None of these

What value should come in the place of question mark(?)in the following questions?

624 − 248 + 28² − 14² ÷ 4 = ?
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(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these

Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
लशल्पा िे रुपये काऋण लिया।कारिरीर्दिे के लिए 15,00,000।कों पिी प्रलत वषष 20% पर चक्रवृखिब्याजवसूिती है।
उसिे तीि साि बार्द भुगताि करिे का वार्दा लकया। िेलकिऋणकायषकाि के अोंलतम वषष के लिए, कों पिी िे लपछिे
एक सेब्याजर्दरको 25% बढा लर्दया। लिर उसे जो अलतररक्त रालश रे्दिी थी, वहउसके द्वारा लिए गएऋणकी रालशका
लकतिा प्रलतशत है?
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(A)24 (B)32 (C)30 (D) 36 (E)None of these

Amit, Bhanu, Chandu, and Dhoni are four friends. In which Bhanu and Chandu are 
brothers. 360 sweets are divided among them. Amit gets 200/3 % of Bhanu. Bhanu gets 40% 
of Chandu and Chandu gets 75% of Dhoni. Then what is the difference between the 
number of sweets received by brothers and the number of sweets received by others?
अलमत, भािु, चोंरू्द, औरिोिी चार र्दोस्तहैं। लजसम़ें भािुऔर चोंरू्द भाई हैं। 360 लमठाइयो ोंकोआपस
म़ें बाोंटा गया है। अलमतको भािु का 200/3% लमिता है। भािु को चोंरू्द का 40% औरचोंरू्द को िोिी
का 75% लमिता है। लिरभाइयो ों द्वारा प्राप्त लमठाईकी सोंख्याऔर रू्दसरो ों द्वारा प्राप्त लमठाईकी
सोंख्या म़ें क्या अोंतर है?
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(A)42000 (B)47500 (C)37800 (D)40500 (E)None of these

The cost price of an article is Rs. 42000. The shopkeeper offers a discount of 20% on it and 
loses at a rate half of the rate of discount rate. The marked price of the article is
एकवसु्तकाक्रय मूल्य 42000 रुपये है। रु्दकािर्दार इस वसु्त पर 20% की छूट रे्दता हैऔर छूट र्दर
की र्दर केआिा र्दर से हालि प्राप्तकरता है । वसु्त काअोंलकत मूल्य है
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1200 (B)3000 (C)3600 (D) 2400 (E)None of these

Ramu and Shyamu undertake to do a piece of work for Rs.7200. Ramu alone can do it in 8 
days and Shyamu alone can do it in 12 days. With the help of Raju they finish it in 4 days. 
Then the share of Raju (in Rupees) is -
रामू औरश्यामू एककामको 7200 रूपये म़ें करिे का ठेका िेते हैं | अकेिे रामू इसे 8 लर्दिो ों म़ें कर
सकता है।औरश्यामू अकेिे इसे 12 लर्दिो ों म़ें कर सकता है । राजू की मर्दर्द से वे इसे 4 लर्दिो ों म़ें
ित्मकर रे्दते हैं। तो राजू का लहस्सा (रुपयो ोंम़ें) है -
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(A)80/243 (B)1/2 (C)8/729 (D)160/729 (E)None of these

A bowler can hit the stump 1 out of 3 balls. If he bowled one over, what is the probability that 
he clean bowled thrice?
एकग़ेंर्दबाज के 3 ग़ेंर्दो ों म़ें से 1 ग़ेंर्दस्टोंप से टकरा सकती है। यलर्द वह एकओवरि़ें कता है, तो तीि
बारक्लीि बोल्डकरिे की प्रालयकताक्या होगी?
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